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1. Piezometer is used to measure–
(a) Pressure in pipe, charmel etc.

(b) Atmospheric pressure

(c) Very low pressure

(d) Difference of pressure between two points

2. When a wire is stretched to double in length, the

longitudinal strain produced in it is–
(a) 0.5 (b) 1.0

(c) 1.5 (d) 2.0

3. For maximum power transmitted by belt the maximum

permissible tension in the belt is–
(a) Equal to centrifugal tension

(b) Two times the centrifugal tension

(c) Three times the centrifugal tension

(d) Four times the centrifugal tension

4. In a diesel engine, the fuel is ignite by

(a) By spark

(b) Injeeted fuel

(c) Heat resulting from compressing air that is supplied

for combustion

(d) Ignitor

5. Universal Joint is example of–
(a) Lower pair (b) Higher pair

(c) Rolling pair (d) Sliding pair

6. An idler pully is used–
(a) For frequent stop page of motion

(b) To maintain requisted tension in the belt

(c) To change the direction of motion of the belt

(d) To rotate only during non-load periods.

7. In order to facilite the with drawl of pattern–
(a) Pattern is made smooth

(b) water is applied on pattern surface

(c) Allowance are made on pattern

(d) Draft is provided on pattern

1. nkcksPprkekih dk iz;ksx fd;k tkrk gS
(a) ikbi] pSuyksa vkfn esa nkc ekius ds fy,
(b) ok;qeaMyh; nkc ekius ds fy,
(c) cgqr fuEu nkc ekius ds fy,
(d) nks fcUnqvksa ds chp nkc dk varj ekius ds  fy,

2. tc fdlh rkj dks mldh nqxquh yackbZ esa [khapk tk, rks mlesa cuus
okyh vuqnS?;Z fod`fr gSa&
(a) 0.5 (b) 1.0

(c) 1.5 (d) 2.0

3. iV~Vs }kjk izf"kr vf/kdre 'kfDr ds fy, iV~Vs esa vuqer vf/kdre
ruko gksrk gS
(a) vidsUnzh ruko ds cjkcj
(b) vidsUnzh ruko ls nqxquk
(c) vidsUnzh ruko ls rhu xquk
(d) vidsUnzh ruko ls pkj xquk

4. Mhty batu esa bZa/ku izTtofyr gksrk gSa
(a) LQqfyZax ls
(b) var% {ksfir bZa/ku ls
(c) ngu ds fy, Hkjh xbZ ok;q ds laihMu ds QyLo:i cuus okyh

m"ek ls
(d) izTokyd ls

5. loZfn'k tksM ,d mnkgj.k gSa&
(a) fuEurj ;qxy dk (b) mPprj ;qxy dk
(c) osYyu ;qxy dk (d) lihZ ;qxy dk

6. fu"deZd iqyh dk iz;ksx fd;k tkrk gS
(a) xfr dks ckj&ckj jksdus ds fy,
(b) iV~Vs esa visf{kr ruko cuk, j[kus ds fy,
(c) iV~Vs dh xfr dh fn'kk cnyus ds fy,
(d) dsoy Hkkj jfgr vof/k;ksa ds nkSjku pykus ds fy,

7. iSVuZ dks fudkyus esa lqfo/kk ds fy,
(a) iSVuZ dks likV cukus ds fy,
(b) iSVuZ ds i`"V ij ikuh yxk;k tkrk gS
(c) iSVuZ ij xqatk;'k NksMh tkrh gS
(d) iSVuZ ij Mªk¶V dh O;oLFkk dh tkrh gSA
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8. nkc vfHkfu;a=d vkSj iksVZj vfHkfu;a=d ds fy, mWapkbZ h vkSj
dks.kh; osx fdl rRled }kjk lacaf/kr gSa \

(a) h αω (b)
1

h α
ω

(c) 2h αω (d) 2

1
h α

ω

9. vkosxh VjckbZu dk iz;ksx fd;k tkrk gS
(a) U;wu nkcksPprk ds fy, (b) mPp nkcksPprk ds fy,
(c) e/;e nkcksPprk ds fy, (d) mPp izokg ds fy,

10. ladqpu ds fy, izko/kku fd;k tkrk gS
(a) cká vkSj vkarfjd foekvksa esa tksM+dj
(b) cká vkSj vkarfjd foekvksa esa ?kVk dj
(c) cká foekvk s a ls ?kVkdj vkSj vkarfjd foekvks a e s a

tk sMdj
(d) cká foekvk s a ls tk sMdj vkSj vk arfjd foekvk s a es a

? kVkdj

11. N.T.P. dk iwjk :i gS %
(a) laKkRed ¼eke wyh½ rki vkSj nkc
(b) lgt rki vkSj nkc
(c) lkekU; rki vkSj nkc
(d) lkekU; Å"ekxfrdh; nkc

12. fdlh Hkki batu dk ØSad] ;kstd NM] flafyaMj vkSj fiLVu cukrs
gSa%
(a) ,d dMh (b) nks dfM;kWa
(c) rhu dfM;kWa (d) pkj dfM;kWa

13. m"ek vkSj dk;Z gS
(a) fcUnq Qyu (b) ra= xq.k/keZ
(c) iFk Qyu (d) ek=k fujis{k xq.k/keZ

14. osaVqjhekih dk iz;ksx ufy;ksa esa rjyksa ds izokg dks ekius ds fy, fd;k
tkrk gSa tc uyh %
(a) {kSfrt gksa
(b) m/okZ/kj gksa] izokg uhps dh vksj
(c) m/okZ/kj gksa] izokg mij dh vksj
(d) fdlh Hkh fLFkfr esa gks

15. izR;kLFkrk fLFkjk ad E, G vkSj K a fdl O;atd }kjk lacaf/kr
gS a\

(a)
KG

E
K G



(b)
KG

E
K 2G



(c)
3KG

E
K 2G



(d)
9KG

E
3K G




8. The height 'h' and angular speed ‘’ for the watt
governor and porter governor are related by the identity.

(a) h αω (b)
1

h α
ω

(c) 2h αω (d) 2

1
h α

ω

9. Impulse turbine is used for

(a) Low head (b) High head

(c) Medium head (d) High flow

10. Shrinkage allowance is made by

(a) Adding  to external and internal dimensions

(b) Subtracting from external and internal dimensions

(c) Subtracting from external dimensions and adding

to internal dimensions

(d) Adding to external dimensions and subtracting

from internal dimensions

11. The term N.T.P. stands for :

(a) Nominal temperature and pressure

(b) Natural temperature and pressure

(c) Normal temperature and pressure

(d) Normal thermodynamic pressure

12. Crank, connecting rod, cylinder, and piston of a steam

engine constitute:

(a) One link (b) Two links

(c) Three links (d) Four links

13. Heat and work are:

(a) Point functions (b) System properties

(c) Path functions (d) Intensive properties

14. Venturimeter is used to measure flow of fluids in pipes

when pipe is:

(a) Horizontal

(b) Vertical, flow downwards

(c) Vertical, flow upwards

(d) In any position

15. The elastic constants E, G and K are related by the

expression:

(a)
KG

E
K G



(b)
KG

E
K 2G



(c)
3KG

E
K 2G



(d)
9KG

E
3K G



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16. dkWdju ckW;yj gSa %
(a) {kSfrt vfXu&ufydk ckW;yj
(b) {kSfrt ty&ufydk ckW;yj
(c) mnxz ty&ufydk ckW;yj
(d) mnxz vfXu&ufydk ckW;yj

17. rU; nzO;ksa dh e'khfuax djrs le; fuEu izdkj ds fpi curs gSa
(a) vfofPNUu fpi
(b) fofPNu fpi
(c) lalDr fdukjs okys vfofPNUu fpi
(d) dksbZ fpi ugha curs

18. iz{ksi csfYMax gSa %
(a) cgqLFkkfud osfYMax izØe
(b) lrr LFkkfud osfYMax izØe
(c) tky cukus ds fy, iz;ksx dh tkrh gSa
(d) dSaVhyhoj cukus ds fy, iz;ksx dh tkrh gSA

19. fujarj fpi curs gSa e'khfuax djrs le;
(a) rU; nzO; dh (b) Hkaxqj nzO; dh
(c) m"ek mipkfjr nzO; dh (d) mi;qZDr fdlh dh Hkh ugha

20. m"ekxfrdh dk nwljk fu;e ifjHkkf"kr djrk gSa
(a) ,UVªksih dks (b) ,UFkSYih dks
(c) m"ek dks (d) dk;Z dks

21. ,d /kju ds fdlh [kaM ij vi:i.k cy 'kwU; crk;k x;k gSA ml
[kaM ij cadu vk?kw.kZ gksxk
(a) U;wure
(b) vf/kdre
(c) ;k U;wure ;k vf/kdre
(d) 'kwU;

22. ,d ljy ;a=koyh esa gksrh gS
(a) 1 dMh (b) 2 dfM;kWa
(c) 3 dfM;kWa (d) 4 dfM;kWa

23. fuEufyf[kr esa ls dkSu&lk <ykbZ dk nks"k ugha gSa \
(a) rIr fonj.k (b) okr fNnz
(c) iiMh (d) dkcZu&fo;kstu

24. <ykbZ izfØ;k esa dksi dk vFkZ gSa
(a) lapdu isVh dk fupyk v/kZ Hkkx
(b) lapdu isVh dk m/oZ v/kZ Hkkx
(c) lapdu isVh dk e/; Hkkx
(d) lkWaps ds Qyd ij ysi

25. yackbZ ‘L’ vkSj O;kl ‘d’ dh flafyMjkdkj NM vius mijh fljs ij
n`<rk ls fLFkj dh xbZ gSa vkSj m/okZ/kj yVd jgh gSA NM+ esa mlds
vius Hkkj  ‘W’ ds dkj.k gksus okyh nS?;Zo`f} gSa

16. Cochran boiler is a

(a) Horizontal fire-tube boiler

(b) Horizontal water-tube boiler

(c) Vertical water-tube boiler

(d) Vertical fire-tube boiler

17. The following type of chip is produced when

machining ductile material:

(a) Continuous chip

(b) Discontinuous chip

(c) Continuous chip with built-up-edges

(d) No chips are produced

18. Projection welding is:

(a) Multi-spot welding process

(b) Continuous spot welding process

(c) Used to form mesh

(d) Used to make cantilevers

19. Continuous chips are formed when machining

(a) Ductile material (b) Brittle matersial

(c) Heat treated material (d) None of the above

20. Second law of thermodynamics defines:

(a) Entropy (b) Enthalpy

(c) Heat (d) Work

21. The shear force at certain section of a beam is stated

to be zero. The bending moment at that section will be:

(a) Minimum

(b) Maximum

(c) Either minimum or maximum

(d) Zero

22. A simple mechanism has,

(a) 1 link (b) 2 links

(c) 3 links (d) 4 links

23. Which of the following is not a casting defect?

(a) Hot tear (b) Blow hole

(c) Scab (d) Decarburisation

24. Cope in foundry practice refers to:

(a) Bottom half of moulding box

(b) Top half of moulding box

(c) Middle portion of the moulding box

(d) Coating on the mould face

25.  A cylindrical rod length ‘L’ and diameter ‘d’ is rigidity
fixed at its upper end and hangs vertically. The elongation

produced in the rod to its self-weight ‘W’ is:
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(a)
WL

AE
(b)

WL

2AE

(c)
2AE

WL
(d)

3WL

2AE

26. The phenomenon of weld decay occurs in:

(a) Cast Iron (b) Brass

(c) Bronze (d) Stainless steel

27. True stress represents the ratio of:

(a) Average load and average area

(b) Average load and maximum area

(c) Maximum load and maximum area

(d) Instantaneous load and Instantaneous area

28. Compression ratio of I.C. engines is:

(a) The ratio volumes of air in cylinder before

compression stroke and after compression stroke

(b) Volume displaced by piston per stroke and

clearance volume in cylinder

(c) Ratio of pressure after compression and before

compression

(d) Swept volume/cylinder volume

29. The polar section modulus of a solid circular shaft

of diameter’d’ about an axis through its center of
gravity is:

(a)
3d

8


(b)

3d
16



(c)
3d

32


(d)

3d
64



30. Modulus of rigidity is the ratio of :

(a) Axial stress to lateral strain

(b)Linear stress to longitudinal strain

(c) Shear stress to shear strain

(d) Hydrostatic stress to volumetric strain

31. Which of the following is an irreversible cycle?

(a) Carnot (b) Stirling

(c) Ericsson (d) None of the above

32. In automobiles the power is transmitted from gear

box to differential through

(a) Bevel gear (b) Universal

(c) Hook’s joint (d) Knuckle joint

(a)
WL

AE
(b)

WL

2AE

(c)
2AE

WL
(d)

3WL

2AE

26. osYM {k; dh ?kVuk ?kfVr gksrh gSa
(a) <yokWa yksgk esa (b) ihry esa
(c) dkalk esa (d) LVsuysl LVhy esa

27. okLrfod izfrcy vuqikr n'kkZrk gSa
(a) vkSlr Hkkj vkSj vkSlr {ks=Qy dk
(b) vkSlr Hkkj vkSj vf/kdre {ks=Qy dk
(c) vf/kdre Hkkj vkSj vf/kdre {ks=Qy dk
(d) rkR{kf.kd Hkkj vkSj rkR{kf.kd {ks=Qy dk

28. I.C. batu dk laihMu vuqikr gSa
(a) flafyMj esa laihMu LVªkWd ls igys vkSj laihMu LVªksd ds ckn

ok;q ds vk;ruksa dk vuqikr
(b) fiLVu }kjk izfr LVªksd foLFkkfir vk;ru vkSj flafyMj esa

vodk'k vk;ru
(c) laihMu ds ckn vkSj laihMu ls igys nkc dk vuqikr
(d) izlfiZr vk;ru@flfyaMj vk;ru

29. O;kl d dh fdlh Bksl orqZy 'kS¶V ds xq:Ro dsUnz ls v{k ds fxnZ
/kqzoh; ifjPNsn ekiakd gSa

(a)
3d

8


    (b)

3d
16



(c)
3d

32


    (d)

3d
64



30. n`<rk ekikad vuqikr gSa
(a) v{kh; izfrcy vkSj ikf'oZd fod`fr dk
(b) ikf'oZd izfrcy vkSj v{kh; fod`fr dk
(c) vi:i.k izfrcy vkSj vi:i.k fod`fr dk
(d) nzoLFkSfrd izfrcy vkSj vk;rfud fod`fr dk

31. fuEufyf[kr esa ls dkSu&lk vizfrØE; pØ gSa \
(a) dkuksZ (b) fLV;fjax
(c) ,fjDlu (d) mi;qZDr esa ls dksbZ Hkh ugha

32. vkWVkseksckbyksa esa fx;j ckWDl ls foHksnh dks 'kfDr dk izs"k.k fdlds
ek/;e ls fd;k tkrk gS \
(a) csosy fx;j (b) loZfn'k tksM
(c) gqd dk tksM (d) udy tksM
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33. The property of a fluid which enables it to resist tensile

stress is known as:

(a) Compressibility (b) Surface tension

(c) Cohesion (d) Adhesion

34. For a slider crank mechanism, velocity and

acceleration of the piston at inner dead center will be:

(a) 0 and 0 (b) 0 and 2r
(c) 0 and 2r  (d) 0 and 2r 
where 'ω'  is angular velocity of the crank and 'r' its

radius.

35. The equation of continuity holds good when the flow

(a) Is steady

(b) Is one dimensional

(c) Velocity is uniform at all the cross sections

(d) All of the above

36. An ideal flow of any fluid must fulfill the following:

(a) Newton’s law of motion
(b) Newton’s law of Viscosity
(c) Pascal’s law
(d) Continuity equation

37. Work done in a free expansion process is:

(a) Positive (b) Negative

(c) Zero (d) Maximum

38. Resilience a material is considered when it is subjected

to:

(a) Frequent heat treatment

(b) Fatigue

(c) Creep

(d) Shock loading

39. Surfaces to be machined are marked on the pattern

by the following colour:

(a) Black (b) Yellow

(c) Red (d) Blue

40. Inversion of a mechanism is:

(a) Changing of a higher pair to lower pair

(b) Obtained by fixing different links in a kinematic

chain

(c) Turning it upside down

(d) Obtained by reversing the input and output motion

41. Mixture of ice and water form a:

(a) Closed system (b) Open system

(c) Isolated system (d) Heterogeneous system

33. rjy vius ftl xq.k/keZ ds dkj.k ruu izfrcy dk izfrjks/k dj
ldrk gS] mls dgrs gSa%
(a) laihM~;rk (b) i`"B ruko
(c) lalatu (d) vklatu

34. lihZ ØSad ;a=koyh ds fy,] vkarfjd fu'pkY; fLFkfr ij fiLVu dk
osx vkSj Roj.k gksxk
(a) 0 vkSj 0 (b) 0 vkSj 2r

(c) 0 vkSj 2< r (d) 0 vkSj 2> r
tgkWa 'ω' ØSad dk dksf.k; osx gS vkSj 'r' mldh f=T;k gSaA

35. lkarR; lehdj.k ykxw gksrk gSa tc izokg
(a) fLFkj gks
(b) ,dfofe; gks
(c) lHkh vuqizLFk izfjPNsnksa ij osx ,d&leku gksaA
(d) mi;qZDr lHkhA

36. fdlh Hkh rjy dk vkn'kZ izokg fuEufyf[kr dks vo'; iwjk djs %
(a) U;wVu dk xfr fu;e
(b) U;wVu dk ';kurk fu;e
(c) ikLDy fu;e
(d) lkarR; lehdj.k

37. eqDr izlkj izØe esa fd;k x;k dk;Z gksrk gSa %
(a) /kukRed (b) udkjkRed
(c) 'kwU; (d) vf/kdre

38. fdlh nzO; ds izR;kLdanu ij fopkj fd;k tkrk gSa tc mls izHkkfor
fd;k tk,
(a) izkf;d m"ek mipkj ls
(b) Jkafr ls
(c) ean fo:i.k ls
(d) iz?kkr Hkkj.k ls

39. e'khuu fd, tkus okys i`"Bksa dks iSVuZ ij fdl jax ls vafdr fd;k
tkrk gS \
(a) dkyk (b) ihyk
(c) yky (d) uhyk

40. fdlh ;a=koyh dk O;qRØe.k %
(a) mPprj ;qxy dks fuEurj ;qxy esa cnyuk gksrk gSA
(b) fdlh 'kq}xfrd Jà[kyk esa fHkUu dfM;kWa yxkdj izkIr fd;k tkrk

gSA
(c) mls myV nsuk gksrk gSA
(d) fuos'k rFkk fuxZr dk mRØe.k djds izkIr fd;k tkrk gSA

41. cQZ rFkk ty dk feJ.k cukrk gSa%
(a) lao`r ra= (b) foo`r ra=
(c) foyx ra= (d) fo"kekaxh ra=
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42. The surface of gear tooth below pitch surface is called
(a) Bottom tooth     (b) Face
(c) Flank (d) Dedendum portion

43. Size of shaper is specified by:
(a) Length of stroke
(b) Size of table
(c) Maximum size of tool
(d) Ratio of forward to return stroke

44. The strain energy stored in a  body due to direct stress
‘f ’ is:

(a)
f

x volume
2E

(b)
2f

x volume
E

(c)
2f

x volume
2E

(d)
2f

x volume
E

45. The efficiency of Carnot cycle is maximum for:
(a) Gas engine (b) Reversible engine
(c) Petrol engine (d) Steam engine

46. If equal and opposite forces applied to a body tends
to elongate  it, the  stress so produced is called:
(a) Internal resistance (b) Tensile stress
(c) Transverse stress (d) Compressive stress

47. The work done in the expansion of a gas from volume
V

1
 to V

2
under constant pressure P is equal to:

(a) Zero (b) P(V
2
-V

1
)

(c) P(V
2
+V

1
) (d) P(V

2
/V

1
)

48. An open system is one in which:
(a) Mass does not cross boundaries of the system,

through energy may do so
(b) Neither mass nor energy crosses the boundaries

of the system
(c) Both energy and mass cross the boundaries of

the system
(d) Mass crosses the boundary but not the energy

49. The first law of thermodynamics is the law of:
(a) Conservation of mass
(b) Conservation of energy
(c) Conservation of momentum
(d) Conservation of heat

50. Kinematic viscosity is equal to:
(a) Dynamic viscosity/ density
(b) Dynamic viscosity x density
(c) Density/ dynamic viscosity

(d) 1/ dynamic viscosity x density

42. fx;j nk¡rksa esa fip lrg ds uhps dh lrg dgykrh gSA
(a) fupyk nk¡r (b) iQyd
(c) ÝySad (d) fMMsUMe Hkkx

43. isij e'khu dk vkdkj fousZnsf'kZr fd;k tkrk gS&
(a) LVªkWd dh yEckbZ ls
(b) est dk vkdkj
(c) vkStkj ds vf/dre vkdkj ls
(d) vxzxkeh vkSj i'pxkeh LVªkWd ds vuqikr ls

44. lh/ks izfrcy f ds dkj.k fdlh oLrq esa lafpr fod`fr ÅtkZ gksrh
gSA

(a)
f

x volume
2E

(b)
2f

x volume
E

(c)
2f

x volume
2E

(d)
2f

x volume
E

45. dkjuk¡V pØ dh vf/kdre n{krk gksrh gSA
(a) xSl batu (b) mRØe.kh; batu
(c) iVªksy batu (d) Hkki batu

46. ,d fi.M ij leku vkSj foijhr cy yxkus ij mlls o`f) gksrh
gS] blds dkj.k dkSulh tress mRiUu gksxhA
(a) vkUrfjd izfrjks/k (b) ruko izfrcy
(c) vuqizLFk izfrcy (d) lEihM+u izfrcy

47. fu;r nkc P ij xSl ds izlkj ds nkSj.k vk;ru V
1
ls V

2
 rd

fd;k x;k dk;Z gS&
(a) Zero (b) P(V

2
-V

1
)

(c) P(V
2
+V

1
) (d) P(V

2
/V

1
)

48. buesa ls [kqyk fudk; dkSulk gS
(a) nzO;eku fudk; dh lhek dks ikj ugha djrk gS ysfdu ÅtkZ

dj ldrh gSA
(b) nzO;eku vkSj ÅtkZ nksuksa gh fudk; dh lhek dks ikj djrk

gSA
(c) nzO;eku vkSj ÅtkZ nksuksa gh fudk; dh lhek dks ikj djrk

gSA
(d) nzO;eku lhek dks ikj djrk gS ysfdu ÅtkZ ugha

49. m"ekxfrdh dk izFke fu;e fdl fu;e ij vk/kfjr gS
(a) nzO;eku lja{k.k
(b) ÅtkZ lja{k.k
(c) laosx lja{k.k
(d) rki lja{k.k

50. dkbZukesfVd ’;kUkrk cjkcj gksrh gS%
(a) Mk;ukWfed ’;kurk@ ?kuRo
(b) Mk;ukWfed ’;kurk × ?kuRo
(c) ?kuRo@Mk;ukWfed ’;kurk
(d) 1@ Mk;ukWfed ’;kurk × ?kuRo
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1 C 2 B 3 C 4 C 5 A
6 C 7 D 8 D 9 B 10 D
11 A 12 D 13 C 14 D 15 D

16 D 17 A 18 A 19 A 20 A
21 B 22 D 23 D 24 B 25 B
26 D 27 D 28 A 29 B 30 C
31 D 32 A 33 B 34 D 35 D

36 D 37 C 38 D 39 C 40 B
41 D 42 C 43 A 44 C 45 B
46 B 47 B 48 C 49 B 50 A

Answer Key


